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Name of Course: CBCS B.A. (Prog.) SEC, Semester VI

Name of the Paper: Basic Computational Techniques for Data Analysis
Unique Paper Code: 62273601
Maximum Marks: 50 Marks

Duration: 3 hours Maximum marks: 50

Instructions for Candidates:

Write your Roll number on the top immediately on receipt of the question paper.
Attempt any four questions.

Each question carries 12.5 marks each.

Answers may be written in Hindi or English, but same medium will be used
throughout the paper.

Use of simple calculator is allowed.
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(a) How would you account for the predominant choice of arithmetic mean of
statistical data as a measure of central tendency? Under what circumstances would it
be appropriate to use mode or median?

(b) The linear correlation coefficient for the following data is -0.68. Interpret the
relationship between these two variables X and Y on the basis of the following data.
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(c) ). Is null hypothesis always rejected? Substantiate your answer.

1. a. BT YGRT & AG & FY F Y WifSAB 3Hihgl & SHHIORIT A Bt THE UHg & g H9
R 8 sgae a1 mftesT &1 wam e ufkfRufadt & s sfea gvm



b. g e ¥ g YRF Teday TUie -0.68 81 Pl Hfes] & MR RFAFRIX ARY S
a9 ey 3t e s

X Y

54
23
76
56
87

N O |~ W

56 3

¢. T Y YRS 0T R WIS gt 87 $(U Stk &I gfY S|

2. (a) What are the various steps in filtering data in MS Excel/R?

(b) We have a list of the marks of students during 2014 to 2019 and we want to sum
all based on their genders. Write the syntax “SUMIF” to sum the marks of boys and
girls separately. State which gender scored higher marks.

Year Gender Marks
2014 Boys 72
2015 Girls 75
2016 Girls 74
2017 Girls 71
2018 Boys 73
2019 Boys 71

(c) “Measures of dispersion and central tendency are complementary to each other in
highlighting the characteristics of a frequency distribution.” Explain the statement
giving suitable examples.
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2016 Girls 74
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3 (a)“A coefficient estimate is statistically significant at the 5% significance level”. Explain.



(b) Write the syntax for calculation of skewness in excel/R from the following data set and
also interpret the result of skewness found if skewness is -0.027.

Class | A B C D E F G
Marks | 54 23 76 56 87 12 3

(c) Imagine you invested $10,000 in a portfolio with the returns outlined below:

o From Jan 1, 2014, to Jan 1, 2015, your portfolio grew to $13,000 (or 30% in year one).

o OnJan 1, 2016, the portfolio was $14,000 (or 7.69% from Jan 2015 to Jan 2016).

e On Jan 1, 2017, the portfolio ended with $19,000 (or 35.71% from Jan 2016 to Jan
2017).

Calculate the compound annual growth rate from January 2014 to January 20177.
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4. (a) How do you create pivot tables in MS Excel?

(b) Write the MS Excel method or syntax for covariance and correlation of the

following data set.
X 8 2 4 7 9 6 20 12 16
X 10 9 4 2 8 8 9 3 45

(c) Explain the meaning and significance of the concept of regression.
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5. (a) Can we compare the standard deviation for both the following data sets? State how can you
determine the variability of these data sets?

Student | Height (cm) | Weight(Kg) |
1 178 65
2 180 70
3 175 71
4 185 72
5 177 73
6 190 79




(b) Consider a project which has the following cash stream:

Investment 100000

Saving in Year Cash Flow

1 200000

2 200000

3 300000

4 300000

5 350000
The cost of capital, k, for the firm is 10 per cent. Find the net present value of the
proposal?

(c)Explain the process of capital budgeting.
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Student | Height (cm) | Weight(Kg) |
1 178 65
2 180 70
3 175 71
4 185 72
5 177 73
6 190 79
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6. (a) Given the estimated linear consumption function. Interpret its coefficients and R2.

A. The Linear Consumption of India
é: = ﬁ, * A Y
=]37.607 + 0.561Y,
< (se)  (10.029) (0.011)
(t-statistic) (13.721) (50.377)
df=n-k=28 F[1, 8] =2537.86
DW =2.899 -

R?=0.997

f-=s war

(b) How to construct a bar graph and pie chart in MS Excel/R?
(c) Explain the datasets available in Ministry of Statistics and Programme
Implementation (MOSPI).
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A. The Linear Consumption of India
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= 137,607 + 0.561Y,
(se)  (10.029) (0.011)
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1. (a) How to construct a line graph and histogram in MS Excel?
(b) Arithmetic mean is a superior average as compared to other averages. Explain with
examples.

(c) Explain pivot tables along with their features.

2. (a) What do you understand by dispersion? Explain briefly the various methods
used for measuring dispersion?
(b) Consider the cash flows of two projects A and B.

Investment 100000 100000
Savings in Year Cash Flow of A Cash Flow of B
1 50000 20000

2 30000 20000

3 20000 20000

4 10000 40000

5 10000 50000

6 - 60000

Briefly explain which project is preferred according to payback criteria.

(c) Given the data table with order numbers and the bill amount. Write the syntax
“SUMIF” to sum the bill amount for a particular brand order where the order number
starts with 'Amzcd' and ‘ABVF’.

S No. | Order No. Bill Amount (Rs)
1 Amzcd 008 450

2 Amzcd 009 500

3 AFJK 010 1102
4 Amzcd 011 850

5 Amzcd 012 564

6 ABVF 013 345

7 Amzcd 014 10.50
8 Amzcd 015 835.5
9 ABVF 016 1236
10 AFJK 017 478.20
11 Amzcd 018 100.25

3. (a) Explain the meaning and significance of the concept of regression.
(b)Write the MS Excel method or syntax for Skewness, Kurtosis and standard
deviation of the following data set. Also calculate the value of Skewness, Kurtosis
and standard deviation of the given data.

IX |4 [2 [3 [ 7 [ 9 (10 [23 J12 16 |

(c) What are the various steps in filtering data in MS Excel?

4. (a) Consider a project which has the following cash stream:



Investment 100000

Saving in Year Cash Flow

1 200000

2 200000

3 300000

4 300000

5 350000
The cost of capital, k, for the firm is 10 per cent. Find the net present value of the
proposal?

(b) ) Explain the process of capital budgeting.
(¢ ) Explain the term “Internal rate of return”. Give suitable examples.

5. (a) Given the estimated linear equation. Interpret its coefficients and R?.

(b) Explain the method of sorting data in MS Excel.

(c) How would you interpret the sign and magnitude of a calculated ‘r’? Consider in
particular the values r=0, r=-1 and r=+1.

6. Write short notes on any two:
(a) R square
(b) Mode
(c) Coefficient of Variation
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